| Argonne Scan anl4506Jv on 20020809 with CF ID = 14

ModuleHisto
0.2 F ANAZZTXSE ' 186
e
016F- [RMSy =0.01381
0.14F
0.12F

0.1f

0.085—

0.06 -

0.04f

o0a| L_200=0.0692

0 n T n T n N 1 N 1 N 1 N 1 N
0 50 100 150 200 250 300 350 400
FiberHisto
0.2p ANAZ?n:ng 1234.1

ey oo

OA16-_ RMSx =0.01381

0.14F

0.12F

0.1

0.08

0.06

0.04

L_200 F=0.0744

0.02
0 n Y n Y n L | - 1 L 1 L 1 L
0 50 100 150 200 250 300 350 400
20 pc Deviants D20pc
Nent=0
1] 1+ Mean = 0
£ | RMS = 0
o
o L
#* L
0.5
0
-0.5
B T B S BRI BN BN
0 5 10 15 20 25
Strip ID

Fri Aug 23 13:53:51 2002

L200 per strip 12005
Nent = 28
g 6'_ Mean = 0.06864
= o RMS =0.01187
s F
# [
5
=
i
i
l:_ H
) P B N
0 0.02 0.1 0.12
L200
[ L200 Fiber per strip | 2007s
Nent = 28
g 8—_ Mean =0.06843
= - RMS =0.01231
s E
® 7
6
5
4=
3
2k
1:— |—|
b 1 [T I TP B IR B
0 0.02 0.04 0.06 0.08 0.1 0.1
L200F
30 pc Deviants D30pc
Nent =0
2] 1 Mean = 0
£ | RMS = 0
o
o -
3+ -
0.5~
0
-0.5—
s NI RPN EPEPEPEN RPRPEPRN RPRPRPR BT
0 5 10 15 20 25
Strip ID

L200 vs Strip

L200Strip
Nent = 28
80'12_ Mean x = 14.5
s F Mean y = 0.06864
- RMS x = 8.078
01 RMSy_=0.01187
L LR
L ° °
0.08 e o °
e [ .. o © [ )
F@----- @ ... T o ...... e......... @ Tt
0.06— 0% ) °
r [ ]
L [ [ ]
004~~~ """ """ T TS - m S-S --------o----
e e s e e e e e e e s e m e m = @ . _ . _ ]
0.02—
) I I I I R B
0 5 10 15 20 25 .
Strip ID
[ L200 Fiber vs Strip } L200FStrip
Nent = 28
%0.12_ Mean x = 14.5
Q - Mean y = 0.06843
- - RMS x = 8.078
0.1~ RMSy_=0.01231
C m gu
- n
0.08
o m B | |
—.... ..... n . ..... | N, . ....... "
r u
0.06[— ] u n
- n .
004~~~ """ T TS T T S S-S m------------
T R L RERES
0.02[—
) I I PR S EFEEI R
0 5 10 15 20 25
Strip ID

0 50

100

150

200

250

00 350
Distance (cm)



Argonne Scan anl4506Jv on 20020809 with CF ID = 14

0.12

Integral pe

0.1

0.08

0.06

0.04

0.02

o
a
o

100

150

200

250 300 350 400
Distance (cm)

0.12

Integral pe

0.1

0.08

0.06

0.04

0.02

o
a
o

i

100

150

200

250 300 350 400
Distance (cm)

Integral pe
o
o N
- N

o
o
©

o
o
=

o
o
o

o

o
o
° 5
III|III|III|III|III|III|III

50
Fri Aug 23 13:53:47 2002

100

150

200

250 300 350 400
Distance (cm)

Integral pe

Integral pe

Integral pe

©
© I
[ N

o©
o
o

I o
o o
N i

o

o
o
o (o]
III|III|III|III|III|III|III

o o o o o
o =} =} o © e
N B (&} @ - N

o

<)
III|III|III|III|III|III|III

o o o o o
o =} o o o [N
N B (o)) (s3] - N

o

o
III|III|III|III|III|III|III

i

50 100 150 200

i

250

300 400
Distance (cm)

3]
o

100 150 200

i

250

300 350 400
Distance (cm)

50 100 150 200

250

300 350 400
Distance (cm)




Integral pe

Integral pe

Integral pe

o
© =
[ )

o
o
IS

o o
o o
o =

o

o
o
° S
III|III|III|III|III|III|III

o
© N
[ N

o
o
s

o o
o o
o =

o

o
o
° >
III|III|III|III|III|III|III

o o o o o
o o o o o i
o s & & i ~

o

Argonne Scan anl4506Jv on 20020809 with CF ID = 14

i

50 100

i

150

200

250 300 350 400
Distance (cm)

/

a
o

100

j

150

200

250 300 350 400
Distance (cm)

o
III|III|III|III|III|III|III

50 100

150

200

250 300 350 400
Distance (cm)

Integral pe Integral pe

Integral pe

©
© I
[ N

o©
Q
Jec

I o
o o
N i

o

o
o
o (o]
III|III|III|III|III|III|III

o o o o o
o =} =} o © e
N B (&} @ - N

o

<)
III|III|III|III|III|III|III

0.12

0.1

0.08

0.06

0.04

0.02

i

50 100 150

N

250

300

400
Distance (cm)

3]
o

100 150

250

300

350

400
Distance (cm)

|

o
3]
o

100 150

250

300

350

400
Distance (cm)




Integral pe

Integral pe

Integral pe

Argonne Scan anl4506Jv on 20020809 with CF ID = 14

13 ' 14 '
= ° =
- a -
- = -
0.12— > 0.12—
- g -
- E -
01— 01—
C \ _ - — _
0.08— = . _ 0.08— .
C T C -
0.06[— 0.06[—
0.04 — 0.04 —
0.02 — 0.02 —
ol 1 L 1 L 1 L 1 L 1 L 1 L 1 L 1 o 1 L 1 L 1 L 1 L 1 L 1 1 L 1
0 50 100 150 200 250 300 350 0 50 100 150 200 250 300

400
Distance (cm)

400
Distance (cm)

15 i 16 '
— ® —
— o —
L = L
0.12[— > 0.12—
- g -
C = C
0.1 — < 0.1 —
0.08 . \ 0.08 -
0.06r= o 0.06[— \
0.04— 0.04— -
0.02[— 0.02[—
0 C L 1 L 1 L 1 L 1 L 1 L 1 L 1 L 1 0 C L 1 L 1 L 1 L 1 L 1 L 1 1 L 1
0 50 100 150 200 250 300 350 400 0 50 100 150 200 250 300 350 400
Distance (cm) Distance (cm)
17 | [ 18 |
= ® =
— o —
L = L
0.12— > 0.12[—
- g -
C = C
01— . 01—
0.08 — 0.08 —
- S -
0.06 — = 0.06 —
0.04— 0.04—
0.02— 0.02[—
0 C ' | ' | ' | ' | ' | ' | ' | ' 1 0 — ' | ' | ' | ' | ' | ' | | ' 1
0 50 100 150 200 250 300 350 0 50 100 150 200 250 300 350

400
Distance (cm)

400
Distance (cm)




Integral pe

Integral pe

Integral pe

0.12

0.1

0.08

0.06

0.04

0.02

0.12

0.1

0.08

0.06

0.04

0.02

0.12

0.1

0.08

0.06

0.04

0.02

o

Argonne Scan anl4506Jv on 20020809 with CF ID = 14

[EEY
©

o
a
o

N
[y

250 300 350 400
Distance (cm)

o
a
o

N
w

250 300 350 400
Distance (cm)

a
o

250 300 350 400
Distance (cm)

Integral pe

Integral pe

Integral pe

0.12

0.1

0.08

0.06

0.04

0.02

0.12

0.1

0.08

0.06

0.04

0.02

0.12

0.1

0.08

0.06

0.04

0.02

N

o

o

N

3]
o

100 150 200 250

400
Distance (cm)

o

N

S

3]
o

100 150 200 250

350

400
Distance (cm)

o

3]
o

350

400
Distance (cm)




Argonne Scan anl4506Jv on 20020809 with CF ID = 14

0.12

Integral pe

0.1

0.08

0.06

0.04

0.02

o
a
o

100 150 200 250 300 350 400
Distance (cm)

0.12

Integral pe

0.1

0.08

0.06

0.04

0.02

o
a
o

100 150 200 250 300 350 400
Distance (cm)

Integral pe
o
o N
- N

o
o
©

o
o
=

o
o
o

AR R RRRRRE

Poppii i iiiiete.

o

o
o
° 5
III|III|III|III|III|III|III

50
Fri Aug 23 13:53:47 2002

100 150 200 250 300 350 400
Distance (cm)

Integral pe

Integral pe

0.12

0.1

0.08

0.06

0.04

0.02

0.12

0.1

0.08

0.06

0.04

0.02

0.1

0.08

0.06

0.04

0.02

o

3]
o

100 150 200 250

300 400
Distance (cm)

o

3]
o

100 150 200 250

300 350 400
Distance (cm)

ModuleHisto_pfx
Nent = 616

Mean = 187
RMS = 76.11

.
||.,IIIIT
T

L_200 = 0.069

|I'J"L++‘I'II

Hr

o

50

100 150 200 250

300 350 400



Argonne LI Scan for anl4506Jv

NENENENNNENENENENENENENENENENENENENENENENENENEONENENENE 1

15

20

25 30
Channel Number

w F
E 6_| F1pe i
° L
i) -
Lu —
S 5[
= °F
o
o -
T 4
© r
o
= C
3
2
1
o
0 5 10
o F
o
S 6
5 C
k) L
Lu -
S 5
s °F
o
i
B 4
1] r
q') —
= L
3
2
1
O_I 1 1 1 I 1 I
0 5 10

Fri Aug 23 13:52:34 2002

25 30
Channel Number

Gain (ADC counts/pe)

Gain (ADC counts/pe)

[
D
[=]
III|III|III|II

F1 Gain I

60

40

20

0 NENENENNENENENENENENENENENENENENENENENENENENANNEN NN

o

5 10 15 20 25 30
Channel Number

=
N
(=]
III|III|III|III

[y
o
o

F2 Gain I

80

60

40

20

o
o

5 10 15 20 25 30
Channel Number




